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QUESTION 1

Memberl is the commander of a Virtual Switching Framework (VSF) fabric. A power distribution causes member 1 to go
down. Now the network administrator wants to rejoin memberl to the VSF fabric and make memberl the commander
again.

What should the administrator do?

A. Boot memberl and allow it to rejoin to the VSF fabric. Then reboot member2.

B. Boot memberl and allow it to rejoin the VSF fabric.

C. Disconnect memberl from member2 before booting memberl.

D. Configure member2 with VSF priority0. Then boot memberl and allow it to rejoin the VSF fabric.

Correct Answer: D

QUESTION 2

Which type of 802.11 wireless network can be hosted by an endpoint device such as a laptop?
A. a wireless distribution system

B. an ad hoc network

C. a wireless mesh or bridge

D. an infrastructure network

Correct Answer: B

QUESTION 3

A network administrator wants to download a configuration from an ArubaOS switch. The administrator does not have
local access to the switch and wants to copy the configuration in a secure manner that prevents eavesdroppers from
reading the configuration. Which two options can the administrator use to copy the configuration?

A. SFTP and HTTPS

B. ZModem and SFTP

C. HTTPS and TFTP

D. HTTPS and ZModem

Correct Answer: A

QUESTION 4
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An interface on an ArubaOS switch did not receive any BDPUs and has the spanning tree auto-edge setting. What
describes the effect of this setting?

A. The interface has spanning tree disabled on it and ignore BPDUs.
B. The interface remains forwarding during topology changes.

C. The interface root path cost is automatically set to 0.

D. The interface is preferred to be selected as master port.

Correct Answer: B

QUESTION 5

Several servers are connected to an ArubaOS switch. The servers send traffic with 802.1Q VLAN ID 5. How should the
network administrator configure the ArubaOS switch to receive this traffic?

A. Make VLAN 5 the Default VLAN on the switch before the servers connect to their switch ports.
B. Make switch ports connected to servers untagged members of VLAN 5.

C. Make switch ports connected to servers tagged members of VLAN 5.

D. Make VLAN 5 the Primary VLAN on the switch.

Correct Answer: C
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